(

\
KpI/IBaﬂ NM3MEHEHNA DHTAITbIMNN OJA
ropeHunda yrnepoga B KUCJ1opoe
XUMNA « PEAKUMN « UBMEHEHNA SHEPT N
o
S
§ 3HepreTnyeckmnn bapbep
2
°N N
= Q
© O
b @ o)
m 0 o\
& 8
3 8
o]
Q
C(tB) + O,(r) =
()
o
o
xn
w
o)
=
AH = -393,5 k[]x/monb
CO,(r)
XOA4 peakumm
/

(

aHTanbnna (kK4x/monb)

\
KpI/IBaFl N3IMEHEHNA SHTAlIbNMN ONA

ropeHuns yrnepoaa B Kucnopone

XNMWA « PEAKLIAN « U'SMEHEHWA SHEPT N

3HepreTnyecknin Gapbep

o4

C(tB) + O,(r)

noskad amHegoeedgO

AH = -393,5 k[x/monb

CO,(r)

XO[, peakumm

J




